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322432412
Obtenga f (@ 41-2) dx

(60 puntos).
Solucién:
Tenemos que

32°4+3z+12 _ 32*43x+12 _ A
pula

<
r(2?+x-2) — x(z+2)(z—1) 1

r+2 + r—

=322 +3x+12=A(z +2)(x — 1) + Bz(z — 1) + Cz(z + 2)
Paraxz =0,setiene: 12= —2A= A= —6
Paraz = —2,setiene: 12—6+4+12=6B=68B=18= B=3

Parax =1,setiene: 3+3+12=3C=3C=18=C=6

3r°4+32+12 _ —6 3 6
Luego, z(z+2)(z—1) = =z + x+2 T

Asi

Jie = [ [ e [

= —6In|z|+3inlz+2|+6Injz—1]+¢

Finalmente,

f 3’ 430+12 4. 6Iln|x| 4+ 3in|z + 2|+ 6Iln|x — 1| + ¢

x(22+2—2)

con ¢ una constante real cualquiera. [_]



